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QUESTION 1

Click the Exhibit button.
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network switches

You have a 2-node cluster cabled as shown in the exhibit. You want to convert the cluster to a switched cluster.
Which two statements are true in this scenario? (Choose two.)

A. The conversion is disruptive.

B. The conversion is non-disruptive.

C. After the conversion, traffic to the intercluster LIFs will flow through the cluster switch.

D. After the conversion, traffic to the cluster LIFs will flow through the cluster switch.

Correct Answer: BD

QUESTION 2

You must enable remote authentication and grant a remote administrator either cluster admin or vsadmin access.
In this scenario, which three authentication types are supported for ONTAP 9.7? (Choose three.)

A. CHAP

B. AD

C. SAML
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D. RADIUS

E. LDAP

Correct Answer: BCE

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.pow-adm-auth-rbac/Administrator%

20authentication%20and%20RBAC.pdf (5)

QUESTION 3

Your company requires that all data must be encrypted in flight to prevent data from falling into the wrong hands.
What are two ways to accomplish this task? (Choose two.)

A. Ensure that SnapMirror compression is enabled in all SnapMirror relationships.

B. Modify your cluster peering relationships to support cluster peering encryption.

C. Enable Multi-Factor Authentication (MFA) for your SnapMirror relationships.

D. Ensure that all intercluster replication traffic is done through a VPN tunnel.

Correct Answer: BC

QUESTION 4

What is the default RAID policy for aggregates created with 10 TB disk drives? (Choose the best answer.)
A. RAID4

B. RAID-DP

C. RAIDO

D. RAID-TEC

Correct Answer: D

Reference: https://docs.netapp.com/ontap-9/topic/com.netapp.doc.dot-cm-
psmg/GUID-2808F15F-60574E43-9407-5B3CA274E6C5.html

QUESTION 5

Click the Exhibit button.
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Filesystem kbytes
/vol/netapp n0l1/ 347277960
/vol/netapp n0l1/.snapshot 18277784
/vol/netapp_esx/ 996148
/vol/netapp_esx/.snapshot 52428
/vol/netapp_lnx_mi/ 996148
/vol/netapp_lnx ml/.snapshot 0
/vol/netapp_esx ml/ 996148
/vol/netapp_esx_ml/.snapshot 52428

used
35072700
14637544
1112
18252
10808
0
844
26348

avail capacity

308205260
14637544
995036
3417¢
985340
0
995304
26080

il%
20%
0%
35%
1%
0%
0%
50%

Mounted on

/vol/netapp_n0l/

/vol/netapp _n01l/.snapshot
/vol/netapp_esx/

{vol/netapp esx/.snapshot
/vol/netapp lnx ml/
/vol/netapp 1lnx ml/.snapshot
{vol/netapp_esx_ml/

Referring to the exhibit, which volume has a snap reserve value set to zero (0)? (Choose the best answer.)

A. netapp_esx_m1l

B. netapp_esx

C. netapp_Inx_m1

D. netapp_n01

Correct Answer: A
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